



اسم: _____

التاريخ: _____ النتيجة _____

$$3 + 10 =$$

$$(-4)^3 - (-7) =$$

$$(-6)^2 + 1 =$$

$$(-9)^0 + (-7) =$$

$$8 + 1 =$$

$$7^2 + 3 =$$

$$(-6)^3 + (-6) =$$

$$(-9)^3 + (-7) =$$

$$(-1)^0 - 10 =$$

$$(-7)^2 + 1 =$$

$$(-5)^2 + 1 =$$

$$(-6)^2 + 2 =$$

$$(-2)^2 - (-2) =$$

$$1 - 9 =$$

$$(-8)^3 - 9 =$$

$$9^0 - (-4) =$$

$$5^0 + (-4) =$$

$$(-1)^3 + 10 =$$

$$2^0 - 8 =$$

$$7^3 - 8 =$$



اسم: _____

تاريخ: _____ النتيجة _____

$$3 + 10 = 13$$

$$(-4)^3 - (-7) = (-57)$$

$$(-6)^2 + 1 = 37$$

$$(-9)^0 + (-7) = (-6)$$

$$8 + 1 = 9$$

$$7^2 + 3 = 52$$

$$(-6)^3 + (-6) = (-222)$$

$$(-9)^3 + (-7) = (-736)$$

$$(-1)^0 - 10 = (-9)$$

$$(-7)^2 + 1 = 50$$

$$(-5)^2 + 1 = 26$$

$$(-6)^2 + 2 = 38$$

$$(-2)^2 - (-2) = 6$$

$$1 - 9 = (-8)$$

$$(-8)^3 - 9 = (-521)$$

$$9^0 - (-4) = 5$$

$$5^0 + (-4) = (-3)$$

$$(-1)^3 + 10 = 9$$

$$2^0 - 8 = (-7)$$

$$7^3 - 8 = 335$$